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H = 0l & AF &2 H M A

20229 & 20l YN SEH &AM
2M: stE
= 5t &H
.I

(=
el oEEHAY

d(mggd SE3AH) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot & ot 200,000 517,000 A 317,000
ot FHHl 2 2el 200,000 517,000 A 317,000
ZELHANY FH(ELE SHIA) 200,000 517,000 A 317,000
Ot LAY 200,000 517,000 A 317,000
403 MtXISHHE X201 & 200,000 517,000 A 317,000
01 XM A=2EE 200,000 517,000 A 317,000
OOt MEHZ3 ZdAY 200,000, 000 200,000




N = 0l & At & Ml A

202298 = =20 nEYA SEEH A

2AM: LelsX
dM: Lo=EXSsH
¢el: LoSXASE (g™ SEIA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
L= 2,762,000 650,000 2,112,000
LosXNsd 2,762,000 650,000 2,112,000
CASIAME S (ZELHE SE3) 2,762,000 650,000 2,112,000
dEUEAY FA 2,762,000 650,000 2,112,000
403 MtXISHHE X201 & 2,762,000 650,000 2,112,000
01 XM A=2EE 2,762,000 650,000 2,112,000
OUecHd == & AdE=s 2,762,000,000 2,762,000




N = 0l & At & Ml A

202298 = =20 nEYA SEEH A

AN ALEI =X

g M=K SEXNE

Gl AZSX MHlA S (L SEIH) (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
A3l = X Bt 1,000,000 1,285,000 A 285,000
M =X SEAA 1,000,000 1,285,000 A 285,000

ASISX MblA S (LA SE3I) 1,000,000 1,285,000 A 285,000
SESEsHdH 2= 1,000,000 1,285,000 A 285,000

403 XAXISH M S K201 A 1,000,000 1,285,000 A 285,000
01 XM A=2EE 1,000,000 1,285,000 A 285,000
ODNgX X8 AN SESsHH =
1,000,000, 000 1,000,000




N = 0l & At & Ml A

0224 2O RELH SN HA
SN BAFYY
HE: oo g ae

SRl gXOFIIB NN (FHYH S|

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
SAF MY 333,000 267,000 66,000
oot ord el 333,000 267,000 66,000
groz 2 N (ogegd SEIAH) 333,000 267,000 66,000
gRozol& XN 333,000 267,000 66,000
403 MtXISHHE X201 & 333,000 267,000 66,000
01 AXISHH A2 E= 333,000 267,000 66,000

Osdtz XMozlld Ss2A=AME N2

333,000,000 333,000




N = 0l & At & Ml A

20228 & =04 2SN SESH &
A A3
H: NSEH SH3H(MY - SAIG/MPETE - D&
¢el: NAELMAY FH (DL SEIAH) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
AAZI S 327,750 433,250 A 105,500
ANAEH 483 (a - SAING/MHTE - D& 275,000 80,000 195,000
ANAREUMMNY ZX (LA SEI) 275,000 80,000 195,000
ANEZgLEAMY BE4(%) 275,000 80,000 195,000
403 XAXISH M S K201 A 275,000 80,000 195,000
01 XM A=2EE 275,000 80,000 195,000
ONMEZ Eatatd THEAS 275,000,000 275,000
AN HHEy s4 & 52,750 353,250 A.300,500
Biot U ZAXNJ(ZELHE SE3H) 52,750 353,250 A300,500
Ehet 39 HIX 52,750 353,250 A 300,500
308 XXIEHH S0 A 52,750 353,250 A 300,500
01 AXNHHBANEES 52,750 353,250 A 300,500
OHet 39 FIXA 52,750,000 52,750




N = 0l & At & Ml A

202298 = =20 nEYA SEEH A

AN EXE XD

Ha: MCN FH Y 2
S 3SR T4 L 2Y(RYLH SHIH) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ST X2t 2,820,000 60,000 2,760,000
MEEHT =24 2 29 2,820,000 60,000 2,760,000
s3HX 24 2 2 (agLd SEIAH) 820,000 60,000 760,000
S3SHA =4X&A 820,000 60,000 760,000
403 MtXISHHE X201 & 820,000 60,000 760,000
01 RXSH X2 % 820,000 60,000 760,000
Otfet H2sZ3EX A 820,000, 000 820,000
AHER 24 2 2 (L SEIAH) 2,000,000 0 2,000,000
AHEHR =LXA 2,000,000 0 2,000,000
403 XIS S X201 & 2,000,000 0 2,000,000
01 XXM 22 = 2,000,000 0 2,000,000
ORHYBHAMACR =4 2,000,000, 000 2,000,000




= o
N & o & AF & H Al A
20229 20a €L SS9 H A
SN HEHDY
M NADSEMNLE
Sl NHPHLTAY FA(DYLH SHIH) (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
rag=—R-gaini; 941,250 737,250 204,000
ANEZEHY 291,250 242,250 49,000
ANAREUMMNY ZX (LA SEI) 291,250 242,250 49,000
NEzadddAMgE 54 91,250 49,250 42,000
201 L2l 83,150 41,150 42,000
01 At 22l 83,150 33,150 50,000
ONARELHIANS U N2 2%
23,550,000 23,550
OXNdzmgedAY 32 & EEXNE
8,000,000 8,000
OXNGZSELHAY M ME 50,000, 000 50,000
OgEer2 gl 1,600,000 1,600
202 oddl 8,100 8,100 0
01 = LH o4 HI 8,100 8,100 0
ONEZELHANY R 8,100,000 8,100
2ZS g8M3H =4 200,000 193,000 7,000
403 XIS E X201 & 200,000 193,000 7,000
01 X SHHAN2E= 200,000 193,000 7,000
O=¢ 2FE 88X SH =4 A&
200,000, 000 200,000
oll Bl dl 650,000 495,000 155,000
olulbl 2(2ggd SY3H) 650,000 495,000 155,000
oldldl 28 650,000 495,000 155,000
801 Gl HIbI 650,000 495,000 155,000
01 Broil bl bl 50,000 200,000 A 150,000
Ououlgl bl 50,000, 000 50,000
NBUHEsES 600,000 295,000 305,000
Ood3lr=E3 600,000, 000 600,000
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> A
A & 0l & AF 2 E A A
20229 20a €L SS9 H A
AN 2E MM
M N2 43
SRl BB HE U PY(FHUN SHIH) EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E ot M 4,848,000 3,337,000 1,511,000
s 1,232,000
< 3,616,000
NG =235 243t 4,848,000 3,337,000 1,511,000
s 1,232,000
< 3,616,000
230 &5 2 2 (FgLd SEIAH) 3,000,000 2,587,000 413,000
Faolgt =5 3,000,000 2,587,000 413,000
403 XIS E X201 & 3,000,000 2,587,000 413,000
01 X SHHN2E = 3,000,000 2,587,000 413,000
OSAIZAEHS =4 700,000, 000 700,000
OZded HUHEZ s=Hs2 S
1,500,000, 000 1,500,000
OJIgx =Sg23tdH A8 800,000, 000 800,000
20t IE (DL SEIAH) 1,848,000 750,000 1,098,000
as 1,232,000
< 616,000
HAHAIE 23T AHS 1,848,000 750,000 1,098,000
s 1,232,000
< 616,000
308 AHXIEHH SOl 225,000 225,000 0
s 150,000
< 75,000
01 HIXNHHBNEES 225,000 225,000 0
OZ&Re-fine S SAALY 225,000,000 225,000
s 150,000
= 75,000
403 MtXISHE X201 & 1,623,000 525,000 1,098,000
s 1,082,000
< 541,000
01 X SHHX2E = 1,623,000 525,000 1,098,000
OZ&Re-fine T SAAY
1,623,000, 000 1,623,000
s 1,082,000
< 541,000




= o
N & o & AF & H Al A
20229 20a €L SS9 H A
FAM: HEdsh
M FEHSIS
el MsAdEs(gegd SE3H) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ME&sH 1,750,000 2,550,000 A800,000
s 400,000
< 1,350,000
EEHsEE 1,750,000 2,550,000 A800,000
s 400,000
< 1,350,000
HEAdets(zg8egdd SE3) 1,750,000 2,550,000 800,000
s 400,000
< 1,350,000
HEIEAL NAANG(ZELH) 1,750,000 2,550,000 A800,000
s 400,000
< 1,350,000
403 XIS E X201 H 1,750,000 2,550,000 A800,000
s 400,000
< 1,350,000
01 X SHHMA 28X 1,750,000 2,550,000 A800,000
OMSEEANE XNIAMNGD (KNS LA A
1,750,000, 000 1,750,000
s 400,000
= 1,350,000




N = 0l & At & Ml A

20229 20a €L SS9 H A
SN 2RIED
Mo BRNANE
Cel 2NN L (L™ SE3) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
22 XS 8,755,000 5,403,000 3,352,000
2BLUATNS 8,755,000 5,403,000 3,352,000
2ZNIANL (ZELHE EE3H) 8,755,000 5,403,000 3,352,000
Zob 22 Ao e 6,620,000 4,003,000 2,617,000
308 XXM SOIA 350,000 0 350,000
01 AXHHBLEES 350,000 0 350,000
OHHMEs AEHOIE ZEAY
60,000,000* 14! 60,000
OJI#Zd NASsH 23t0l=s0lH
50,000, 000* 14! 50,000
Oz3Z HE2s2 Ueg=z Jisad
20,000,000* 14! 20,000
OWZ =g Z3tiote =4 25,000, 000 25,000
OEHetZ2AHEIA ME WA 195,000, 000 195,000
403 XS E A0l & 6,270,000 4,003,000 2,267,000
01 XM A=2EE 6,270,000 4,003,000 2,267,000
OHHMES AEHOIE ZEAY
440,000,000 =14l 440,000
02022 Bl HE 228 2=
3,500,000, 000 1A 3,500,000
OJI#Zd NASsSH 23t0l=s0lE
270,000,000 =14l 270,000
ONsS2 AAM2ZR LAY
750,000, 000%* 14! 750,000
ottet=s 22 XF FHIAY 705,000,000 14 705,000
OuZ=zer Estote =4 605,000, 000 605,000
HE S22 IR 2,135,000 1,400,000 735,000
403 UHXSHHSA=0l& 2,135,000 1,400,000 735,000
01 HXESHHMA=E L 2,135,000 1,400,000 735,000
OO0t MEfsA & 822 =4
2,135,000,000% 14 2,135,000




> A
A & 0l & AF 2 E A A
20229 20a €L SS9 H A
SN AR
Hu: DER SM2 M8 7S
Cel: ZELEML(DELN SE3) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AR 0 2t 6,124,000 5,192,000 932,000
NEE sHtE da|g 25 6,124,000 5,192,000 932,000
DL (ZELE SE3H) 6,124,000 5,192,000 932,000
=4 AOQESY =SEHX =4 1,700,000 0 1,700,000
403 MtXISHHE X201 & 1,700,000 0 1,700,000
01 XM A=2EE 1,700,000 0 1,700,000
O=t A EsY =S =4
1,700,000, 000 1,700,000
AQEE 3E29A XNR/MEH =4 500,000 1,250,000 A750,000
403 MtXISHH S =0l & 500,000 1,250,000 A750,000
01 XM A2E X 500,000 1,250,000 A750,000
OANE®R BEA A (Complex) K&MEH =4
500,000, 000 500,000
OlaESMDE JSIMENEHX =4 800,000 826,000 A26,000
403 XA SA=0l& 800,000 826,000 A26,000
01 X SHMA2E X 800,000 826,000 226,000
OUlatatANe HSBHEHEX =4
800,000, 000 800,000
NGAMZHESIAAANAE 25 2,500,000 2,630,000 A 130,000
403 A X EHHSH=20IA 2,500,000 2,630,000 130,000
01 X ESHHMA=2LE L 2,500,000 2,630,000 A 130,000
OXNGASHESKNAANAE 2=
2,500,000, 000 2,500,000
S =4 012 FEXNJEH 292 142,000 108,000 34,000
403 A X EHHS =0l A 142,000 108,000 34,000
01 X EHHMA=E L 142,000 108,000 34,000
Osdt =4 Itz FEXNJUH 29
142,000, 000 142,000
=Y "SAHE" Z2ME 269,000 241,000 28,000
403 XIS E X201 E 269,000 241,000 28,000
01 AXSHMA=2EE 269,000 241,000 28,000
O22dg "SHME" Z2NE 269,000, 000 269,000
S4E 2 (GAP) U SO SHSIAIY 213,000 137,000 76,000
403 A X EHHS =0l A 213,000 137,000 76,000
01 X HHMA=LE L 213,000 137,000 76,000
OstE2+22(GAP) IS ola M3t
213,000, 000 213,000




N = 0l & At & Ml A

202298 = =20 nEYA SEEH A

N SAHSFSENY
al

X ZH -

Sl REEC AL XNV (FELH S) EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SAEZHRSH 270,000 130,000 140,000
8 SSHAH 2= 270,000 130,000 140,000
Z2ZFEC 2435 XN (FELHE SLE3H) 270,000 130,000 140,000
FHEEE =#FHMAHA 2= 270,000 130,000 140,000
403 MtXISHHE X201 & 270,000 130,000 140,000
01 XM A=2EE 270,000 130,000 140,000
O2ZZEE =3 MMM 2= 270,000, 000 270,000




N = 0l & At & Ml A

202298 = =20 nEYA SEEH A

2N sEERED
HE: sEMEEY NS
SPl: RHUUHMY(DHLH SN CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SE=&& ) 2,240,000 1,372,000 868,000
SEMEEH Dbt = 2,240,000 1,372,000 868,000
DEUMANL(ZEHLYH ELH) 540,000 0 540,000
HdE ANHEd0s &4 540,000 0 540,000
403 XX SHHS K20 & 540,000 0 540,000
01 XIS A2E X 540,000 0 540,000
Od= Meggos =4 540,000,000 540,000
SENg2S (LM EE3H) 1,700,000 1,372,000 328,000
NEZEEHA 1,700,000 1,372,000 328,000
403 XX SRS R 20| & 1,700,000 1,372,000 328,000
01 AXESHIE2E X 1,700,000 1,372,000 328,000
OHM2e ekt =4 300,000,000 300,000
ONEE ZRsY B3E 75 D2HE
400,000,000 400,000
OlaZ 88 =gIlet =4 500,000,000 500,000
O00lAF 11008 AlE 2 X4 500,000,000 500,000




> A
A & 0l & AF 2 E A A
20229 20a €L SS9 H A
N 223
M LIBH W B2
SRl MAT U Xota 2ol(RHLH SHIH) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Sl M 1,600,000 328,500 1,271,500
SASHE A 22l 1,600,000 328,500 1,271,500
f=E 2 Rots el (ZE€@LH SE3) 1,600,000 328,500 1,271,500
Aga=EH S &5 1,600,000 328,500 1,271,500
403 MtXISHHE X201 & 1,600,000 328,500 1,271,500
01 XM A=2EE 1,600,000 328,500 1,271,500
OXNga=t Has3a2d S3AY
1,600,000, 000 1,600,000
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N = 0l & At & Ml A

20224

H
i
2
z
Y
ogr
ne
>
Jm
ng
fon
X
>
é

SN WP

H -/
M sy O 1S
Hey 2 A

SETR N (Feged sEalH) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
off F A ZH )} 2,903,500 3,054,000 A 150,500
= 1,095,000
= 1,808,500
HEZSA It = 2,903,500 3,054,000 A 150,500
g 1,095,000
o 1,808,500
HYAZTRAAIL XN (LN SEH) 1,200,000 400,000 800,000
OFS|ZLIOF GHFR M 20|18 =4 700,000 400,000 300,000
403 XX SRS K20| & 700,000 400,000 300,000
01 MXSHHXNE2E =X 700,000 400,000 300,000
OBte|ZL|IOF SHa N 22018 =4
700,000,000 700,000
DU €932 X4 500,000 0 500,000
403 XX SHS K20 & 500,000 0 500,000
01 XIS A 2E X 500,000 0 500,000
ODNHE g2dEJA =M 500,000,000 500,000
HYEH BEE(Dygedd SEH) 1,703,500 2,654,000 A 950,500
Fag 1,095,000
= 608,500
HEMHD MZ3H ALY 1,703,500 2,654,000 A 950,500
Fag 1,095,000
& 608,500
207 I & 200,000 0 200,000
01 A& | 200,000 0 200,000
O=d LMY D SLHE ZAF L 22| etot
AR (2XEE) 200,000,000 200,000
308 MXISHHSOIA 1,503,500 2,654,000 A 1,150,500
g 1,095,000
& 408,500
01 IXHHIMNEXZ 1,483,500 2,654,000 A 1,170,500
OHLMY Il HZSHAIE 1,423,500, 000 1,423,500
g 1,095,000
= 328,500
OXNdlgesd My 483 K&
60,000,000 60,000
112 2SUHUSHEAEAE A Y| 20,000 0 20,000
OXNdlgsHdNRMH 29 20,000,000 20,000
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N = 0l & At & Ml A

2022E &= 20N ZEENA EEH AA
2N 5YIlER SENAR
MY =9)|223 Y A2s0 |4
@2 sENE Jsds & sHolESH(FELN SHEH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
sgl|=@® sEXNd= 2,340,000 1,649,000 691,000
sllsEg ¥ d2=s20 4 2,340,000 1,649,000 691,000
sZEXNE Jsdst & sHodEssd (Y™ EE3H 440,000 360,000 80,000
)
M ASHZ Oldisg S8 235 440,000 360,000 80,000
403 XX SHHS K20 & 440,000 360,000 80,000
01 XIS A2 X 440,000 360,000 80,000
Odl ASHS Dlehs2 AIe 28
440,000,000 440,000
XEH NEE MM sENMNE MAD|s EZ(DEEd 1,900,000 1,289,000 611,000
EH3H)
SHE MY EAMdEH &EX 1,000,000 1,000,000 0]
403 XX SHHS K20 & 1,000,000 1,000,000 0
01 XIS A=Z2E X 1,000,000 1,000,000 0
Os4its otdsd 24 4ME X 1,000,000,000 1,000,000
s ZEAE XD 2= 400,000 218,000 182,000
403 XX SRS K 20| & 400,000 218,000 182,000
01 XIS A =Z2E X 400,000 218,000 182,000
Osg EetdE XdJ|E 2= 400,000,000 400,000
Olcf B =Y NHIA XKI|1BE 25 500,000 71,000 429,000
403 XX SHHMS K201 & 500,000 71,000 429,000
01 XS A2E X 500,000 71,000 429,000
OllchH stE3=Y MHlA X218 =
500,000,000 500,000
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